Tuition and Fees Schedule

Total Credits Required for Graduation	Program Length in Quarters	Tuition Cost Per Quarter (12 to 18 Credits)	Program Tuition	Graduation Fee	Technology Fee (Per Quarter)	Total Program Cost* (Refer to Note #1)	Part-time Tuition (1.5 to 11 Credits) Per-Credit-Hour Charge* (Refer to Note #5)	Full-time Tuition (18.5+ Credits) Per-Credit-Hour Charge* (Refer to Note #4)
	Full-time Associate Degree Programs (Refer to Note #2)							
Associate of Arts in Business Administration (AABA)								
90	6	\$4,750	\$28,500	\$150	\$220	\$29,970	\$361	\$317
	Associate of Science in Criminal Justice (ASCJ)							
90	6	\$4,750	\$28,500	\$150	\$220	\$29,970	\$361	\$317
	Full-time Baccalaureate Degree Programs							
Bachelor of Accounting (BACC)								
180	12	\$4,750	\$57,000	\$150	\$220	\$59,790	\$361	\$317
	Bachelor of Business Administration (BBA)							
180	12	\$4,750	\$57,000	\$150	\$220	\$59,790	\$361	\$317
	Bachelor of Science in Criminal Justice (BSCJ)							
180	12	\$4,750	\$57,000	\$150	\$220	\$59,790	\$361	\$317
	Bachelor of Healthcare Management (BHCM)							
180	12	\$4,750	\$57,000	\$150	\$220	\$59,790	\$361	\$317
Bachelor of Science in Information Technology (BSIT)								
180	12	\$4,750	\$57,000	\$150	\$220	\$59,790	\$361	\$317

Tuition and Fees Schedule

Total Credits Required for Graduation	Program Length in Quarters	Tuition Cost Per Quarter (12 Credits)	Program Tuition	Graduation Fee	Technology Fee (Per Quarter)	Total Program Cost	Part-time Tuition (Less than 12 Credits) Per- Credit-Hour Charge	Full-time Tuition (13+ Credits) Per-Credit-Hour Charge
	Full-time Graduate Degree Programs							
Master of Business Administration (MBA)								
48	4	\$6,120	\$24,480	\$150	\$220	\$25,510	\$510	\$510
	Master of Healthcare Management (MHCM)							
48	4	\$6,120	\$24,480	\$150	\$220	\$25,510	\$510	\$510
Master of Science in Information Technology (MSIT)								
48	4	\$6,120	\$24,480	\$150	\$220	\$25,510	\$510	\$510
Total Credits Required for Graduation	Program Length in Quarters	Tuition Cost Per Quarter (9 Credits)	Program Tuition	Graduation Fee	Technology Fee (Per Quarter)	Total Program Cost	Part-time Tuition (Less than 12 Credits) Per- Credit-Hour Charge	Full-time Tuition (12+ Credits) Per-Credit-Hour Charge
	Certificate Programs							
Media Production - Audio and Sound Recording								
27	3	\$3,204	\$9,612	\$150	\$220	\$10,422	\$356	\$356





Tuition and Fees Schedule

All Programs

recilliology ree rei dual lei		
	\$220.00	

Online Course Fee

Students enrolling in a Virtual Campus online course will be charged an online course fee. The Online course fee includes Virtual Campus access, online library, 24/7 technical support, and all course materials, which may include e-Books, textbooks, and/or software. The Online course fee is as follows:

Undergraduate fee per course (4.5 credits) \$104.00
Graduate fee per course (6 credits) \$168.00

Textbooks

Students are responsible for purchasing textbooks and supplies required for class.

Although the costs of the textbooks and supplies vary according to the program, the average cost per 15 undergraduate or 12 graduate credit hours is \$400.

Notes

- Undergraduate program tuition and total program cost are based upon standard full-time program length. Standard full-time undergraduate program length is based on an average of 15 credit hours per quarter. For Associate Program, four quarters at 13.5 credits and two quarters at 18 credits = 90 credits. For Bachelor's Program, eight quarters at 13.5 credits and four quarters at 18 credits = 180 credits. Actual amounts will be based upon actual program length, which may vary due to transferred credits, or repeated courses. Repeated courses, not averaging 15 credit hours per quarter, and part-time status (taking less than 12 credit hours) will increase program tuition and total program cost.
- 2. Students who graduate from the Associate Degree Programs and enroll into an AIU Baccalaureate Degree Program (other than same program in the Baccalaureate Degree Programs) may be required to take additional courses to satisfy program requirements. Taking additional courses will increase program length, program tuition, and total program costs.
- 3. Full-time tuition cost per quarter is based on credit-hour load between 12 and 18 credits.
- 4. Students taking more than 18 credit hours during a quarter will be charged on a full-time per-credit-hour basis for all credits taken.
- 5. Students taking less than 12 credit hours during a quarter will be charged on a part-time per-credit-hour basis.
- 6. The part-time per-credit-hour rate includes a tuition premium.
- 7. Custom suite of course materials for Virtual Campus online courses are provided to the student by Words of Wisdom, LLC. At the University's discretion, books may be delivered in an electronic (e-Book) or standard textbook format. Students not wishing to use e-Books are responsible for any additional charges associated with purchasing standard textbooks.
- 8. Graduation Fee includes administrative costs associated with graduation processing (degree verification, diploma, etc.). A non-refundable \$150 Graduation Fee will be charged to the student's account during the final term.
- 9. Certificate program tuition and total program cost are based upon standard part-time program length. Standard part-time certificate program length is based on 9 credit hours per quarter. Actual amounts will be based upon actual program length, which varies due to transferred credits, or repeated courses. Repeated courses will increase program tuition and total program cost.

AlU reserves the right to make changes at any time to the amount of tuition and fees, as set forth in the Enrollment Agreement. Notice of changes will be communicated in a revised catalog, an addendum or supplement to the catalog, or other written format.

Tuition and Fees Schedule

Professional Development (Non Degree Seeking Students)

Per Credit Hour					
Undergraduate Courses					
All Undergraduate-level courses	\$361.00				
Graduate Courses					
All Graduate-level courses	\$550.00				
	Online Course Fee				
Students enrolling in a Virtual Campus online course will be charged an online course fee. The online course fee includes Virtual Campus access, online library, 24/7 technical support, and all course materials, which may include e-Books, textbooks, and/or software. The Online Course Fee is as follows:					
Undergraduate fee per course (4.5 credits)	\$104.00				
Graduate fee per course(6 credits)	\$168.00				
	Teythooks				

Textbooks

Students are responsible for purchasing textbooks and supplies required for class.

Although the costs of the textbooks and supplies vary according to the program, the average cost per 15 undergraduate or 12 graduate credit hours is \$400.

Notes

- Custom suite of course materials for Virtual Campus online courses are provided to the student by Words of Wisdom, LLC. At the University's discretion, books
 may be delivered in an electronic (e-Book) or standard textbook format. Students not wishing to use e-Books are responsible for any additional charges associated with purchasing standardtextbooks.
- 2. Non-degree seeking students are not eligible for financial aid.
- 3. Professional Development (Non Degree Seeking) students will be charged on the per-credit-hour basis.

AIU reserves the right to make changes at any time to the amount of tuition and fees, as set forth in the Enrollment Agreement. Notice of changes will be communicated in a revised catalog, an addendum or supplement to the catalog, or other written format.